6.2 solving equations with variables on
both sides
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. Math 9 Hw Chapter 6.2: Solving Equations with Variables on Both e
- Solve each of the following equations:
a)3x+10=5x_20 b) 6x—14=2x+18
10+20= SX=3% ex-2x =18+ 1]
30=2x Yy =32 %
[x=%) ]
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2. Find the

Low,
1 o5t Common Denominator for each of the following fractions:
a) g and l 1 1 1
14 b) — =
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3. When solving an equation with fractions, why are we finding the LCD? Explain using your o
Weve finding 4ne LCD So thad we
o simglify 4ine_egquakion $o 1t
WU he easSier 1o solve!
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g) \r_5=6‘_\’ 8

22 [ 18x 48 15% 14 =
573 0 815 |
SOX~F2 = 18x+Yp 2o
SOX-18x = o432 el
32% = 112

i
= ~33x =280 _‘
= \Z M=y |
> 321‘;’ —-——-‘
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5. :hseti:(::::k;nm‘e;::;,:‘; fo}lowing two questions with their work shown below. Is there a mistake in ‘.\':
usion can you make from their work? r
Student B
Student 4 5x(2x—8)+10=10x* —40x +10 Student C. e
3(2x-8)=6x-12 102" =40x +10 = 10x* - 40x + 10 2x+ax+10=3(2x43)42
6x—24=6£+)2 —10%2 — 1052 6x+10=6x+9+2 A
b Rt ~40x+10=—40x+10 ey -
24=12 ] &w'ggth +40x +40x 10=11 & 8
nHreason 10=10 » ‘ i
o mistake! ho soluiont,

6. Jason worked 3 years and saved some money. His brother has half of what he sav
2/3 of what he saved. Together they have $25,000. How much money does each person
an equation to solve this question and then show all your work an B S o

A+ Sx+5x =25 000 Jason has =

(X434 4= 150 000
13X =(50000
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